


2005/8/8-10 2



2 Newton
1 Newton

2005/8/8-10 3



MIFID

T
98 . 2 _ c
- +V [{(e+ p)y*-Dc }v o

B L Vx(cE)=0
ot

\

D= py

E=—1V><B
C

(y :rorentz factor, e : thermal enegy density)

2005/8/8-10 4



Fo =1

e

= (i b, > 0) —
_bLFR +bRFL +bRbL(UR _UL)

Ifb <0<b
— (if b <0<b,)

= (if b, <0)

2005/8/8-10



- +
bR - maX(O’mes,L’mes,R)

bL - min(O’ Vf_ms,L ! Vf_ms,R)

2005/8/8-10 §)



o — e =3
pe— ——  — = —

= Lax-Wendroff  HLL =

Density t =0.40 Density t =0.40

HICLE -
- R0Oe

2005/8/8-10 7



Balsarna, 2001

De step=270 Vi step=270
o ] T . o1 N —
- Y 1 ] o | E 0 /_5— -
E © C ] C ]
5 E -2 _: o5 | ] o1 [ g E
- & 7 g . g o
C o C ] 02 [ ]
- o E’a B 025 [ ] C § 1
S “ : | ol 5
T T o 1 i 1 0 o o o 1
Wz step=270 Lorentz step=270 By step=270
01 O L B L S B B | 5 T T T _] T T T
' & I_%_ s | 3 s L ]
g 3 ] s L = 3 ]
o o ] F o = 4
N o ] F o + L g -
C o ] 2 L ° I 2
02 [ 3 E 3 - o
: . "k 2 L 3
0 [ ] E 3 - e
E 1 L | 3 ! C 1 | | L F -u PR T SN TR TN TN TN NN ST ST S S N S k
0 05 05 35 1 0 035 05 [} 1 0 025 05 07 1
Balst wave test problem
(a very strong initial pressure difference)
Bz step=270 Pr step=270 ..
: —— : . . . dfeld (SRMHD code), Double precision
T | 100 g . second(space,1.2) & second(time) accuracy
T T - CFL=0.4, 1600grid, t=0.4, ¥ =5/3, Bx=10.0
r i 3 E Left Right
L _ g ] 0. 1.0 1.0
L ] pr: 1000 0.1
2 [ i = L . v 0.0 0.0
i 1 C ] By: 7.0 0.7
I [— s 1
0 o o5 w1 g s 05 “m 1 Bz: 70 07




Balsarna, 2001

De step=590 W step=590 Wy step=590
0 [ T T T ] 1 T T T T T T T T T = . m
| —_— — E ol k : .l 5
oL ° ¢ - © E o1 [ @ o N
@ @ : 0 h _: N < ) .
2 L . . . o5 [ ° _E o [ o2 .
0 e ] |— T B I B R R T T S R A |F..- 03 . 1 u L1
02 0 (¥ 05 0% 0 025 05 0% 0 0% 05
2 step=590 Lorentz step=590 By step=590
uw . T T T d [ gﬁo-r‘rvlu---:
C S ] E E 10 L . S ]
o1 [ o o ] % F o o 3 fm— g
N o o g ] 0 H J
P ] L = - -
0z [ P h E C . —
5 o ] 5 [ 3 L : b3 )
02 0 (73 05 025 0 0% 05 0% 0 0% 05
Noh (1987) test problem
B2 step=590 Pr step=530 dfeld (SRMHD code), Double precision
[ Gy T second (space,1.5) & second(time) accuracy
o b & § E 1000 — g E — CFL=0.4, 1600grid, t=0.4, ¥ =5/3, Bx=10.0
'E—O 73 E - Z_ _Z Left nght
o | H 3 E o o o 10 1.0
' 3 ] s o o E pr: 01 0.1
a [ § °© ] =0 | E vx: 0.999 -0.999
2 o g 0 ° vy,vz: 0.0 0.0
- | ——wh By: 70 7.0
Bz: 7.0 -7.0




= 2 Newton

LW HLL

2005/8/8-10 10



Del Zanrza et al, (2003
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Brio & Wu test problem
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Balst wave test problem

(a moderate initial pressure difference)
dfeld (SRMHD code), Double precision
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